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Seat No. @

NB-114
Novemb:-..:zl;lw
M.Com,, gem.-I
402 : Business pjanagement

(New)

Time : 2:30 Hours]

Instructions : (1)  Figures to right indicate marks of the questions‘
(2) Draw figures wherever necessary.

1. (A) Explain evolution of management theory
management.

(1) Discuss the term “Socia |
> business.

affected by socjal |
| Explain various determinants of
7
4
4) Risk Tolerance
(5) Scientific Management
(6) Scalar Chain -
2. (A) Explain "Planning” in business management. Describe decision making process in
detail when planning is undertaken by the managers of the business. 14
OR
(1) Explain "Strategy Implementatjon" in business and also barriers to the
strategy implementation. ) 7

. " . e . . . '
(2) Discuss "Organizational Change" in business. Explain various reasons for
resistance to organizational change 7



(B)

3. (A)

(B)

Explain the following terms : (Any Ft’tur)
(1) SWOT analysis

(2) Matrix Organization

.(3)  Authority delegation

(4) Accountability
(5) Principle of Continuity

(6) Planned decisions

Explain the terms “Motivation”. Describe Mcgregor’s thebfy “X" and theory, “Y" 3

for motivation. | L 14
OR
" (1) Explain Maslow's theory of motivation ifl busingss. |\ -
(2) Explain the tenﬂ “Team”. Mention requirements of effective team in
business management. @4 T\ T\ ' 1
Select the correct answer"fbr the foﬂoWing qﬁestions : (Any Three) 3
(1) _ i§ one of thesmotivational factors as per Herzberg's theory of
_, motivation.” A |
(a) : Hygenic factors t (b) Job satisfaction
Y _ (¢) S'afe'ty factors (d) Social factors
2)\ Which of the following is one of the components of “Theory Z° given by .
~ William Ouchi ?
(a) Informal Control System  (b) Co-partnership
(c) Difficult Goals (d) Rigid Control system

(3) Conveyance of messages through spoken words, visual media or gestures is
called communication,

(a) Written communication (b) Verbal communication

(c) Formal comunication (d) Horizontal communication
(4) The team which i constituted to solve ‘specific problems which an
organization may be facing 18 called team.
(a) Self-Managing Team (b) Problem Solving Team
(c) Cross Functional Team (d) Virtual Team
= P.T.O.
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(A) Explain the term “Control" and di"cuss the GIngcs of Control in Management,

OR

(1) Discuss various types of OPerationy] P'""s'

(2) Explain the need of “Informatjq, Syswm" in Management,

(B) Select the correct answer for the follDWiﬂg questions : (Any Three)

(1) “MIS” Stands for :

(a) Management Internationg] gystem

(b) Management Information System

(c) Material Import System

(d) Management Informal System

(2) Information System at the StrategiC Max_lage nt
designed to address instructured dec
- graphics and communication is called

(a) Decision Support Sy xecutive Information System

(c) Organization -Management Process System
(3) Transaw'on process

-~ (@) D es

known as |
(b) Decision Making System

S1S | ' (d) Project Processing System

stem

(b) product

(d) raw matenal

e ———

\ organization
ugh advanced

of system design is to determine how the ________ is to be

14
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M.Com, Sem .
402 : . Financial Management
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Seat No. :

NB.114

Nnvember-2019
MlCOm., Sem-'I
402 : F iﬂancial Management
(O1d)
Time : 2:30 Hours] Ch - [Mdx. Marks 270
1. (A) Explain the Modern and Traditiong) concept of financial funCtidn. A ¥ 1—-4 |
OR | X N
(1) Explain the meamng of “Maximization of pmﬁt"_ in “the financial
Management. [ A _ v,
(2) Explain briefly the objective of finan€ial managerﬁe‘n't: 7
(B) Choose the correct answer : (Anydour)s = 4

(1) The function of Finange Man#geris—____
() Procurement of Finanee (b) Estimate Needs of Finance
(c) ‘Distfibution of the Finane€ (d) All of these

(2) Which of the following is not limitation of traditional approach of Finance
Functmn B

h @ Con51deration of use of Funds
»(b) Avoidance of Finance Control
(¢) Procurement of Funds
(d) None of these

3) In _____ stage of evolution of Financial Management is includes
Quantitative Analysis.
(@) Modern Phase | (b) Traditional Phase
(¢) Transitional Phase (d) None of these

(4) The long term objective of Fjpancial Management is to
(a) Maximize earning per share
(b) Maximize Investmen; ygjue of the Firm
(c) Maximize Return of [y estment
(d) None of these
NB-114 | 12



(3) The Formula of Return 0" Im’estmem is
(@) Total Investment/Net Profit
(b) Net Profit (after Tax)/Tota] Investment
(c) Net Profit ( Before Tax )Tota) Investment
(d) None of these

(6) During the process of Procurément of Finance
(@) Fixed Capital Ratio is COnsidered
(b) Working Capital Ratio is Considered
(c) Both (a) & (b)
(d) None of these

h

NB-114

(a) Interest/price (b) Annual Interest/Yield

(c) Annual Interest/Price (d) None of these
13

- 2. (A) Explain the causes of Financial risk and business risk. 14
OR
(1)  Explain Types of Bond. @ ;
(2) Explain the “H” Model of equity Share Valuation ' -
(B) Choose the Correct answer : (Any Four) \ 4
(1) High the discount ratef” the present Value of the future cash flow.
(a) Fixed gl Q@ . (b) Higher
(c) Lower ° \ O (d) None of these
2) A bond cames a spemﬁc iriterest called ¥
afa) Coupon Rate (b) ' Premium Rate
~ © (© "Maturity Rate (d) None of these
P _'(3)__ The Value of on asset on a Spemﬁc date in the future that is Equivalent in
_ " Value to a Specified Sum today it is called
(a) Future Value (b) Present Value
(c) Compound Value (d) None of these
(4) Whatis the relation between profitability and Risk ?
| (a) Positive (b) Inverse
(c) Absence of relation (d) None of these
(5) Portfolio analysis begins when ______ends. '
(a) Rate of Return (b) Security Analysis
(c) Risk (d) None of these
(6) Current Yield is equal to ——

P.T.O.
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(A) Whatis working capital ? Explain Various approaches of working Capital. 14
. OR
(1) Ranvir Milk Product Co, dering investing in a project requiring
amount < 4 lakhs. 7
(i) Forecast for annual ing,., after depreciation but before 50% tax is as
follows : | |
(R) | 200,000 | 500,000 | 1,60,000 | 1,60,000 [¢80,000°f\
(ii) Rate of depreciation 2 ¢, on cost at straight Linegnethod. _
(iii) Discount factor atrate of 1095, i
1
Discount Factor {909 0.826 0751 0683 |0.621
You are required to evaluate the project aceording to each of the following
method : (a) Pay Back Methodd(b) Net Present Value.

(2) Vir Narmad University wants to purchase one machine from mentioned
three machine Usha, Kiran_ﬂ._ld Sandhya each costing ¥ 50,00,000. An
estimated life.of each machin€ 18 years. There is no scrap value. Expected
rate of return'is 10 %. Expected'eammg after depreciation and taxes for the

7

three qnachines até as follows :

A v - l\f;achine
e 4,00,000
, : 0,00,000 | 3,0,000
14,00,000 [ 4,00,000 |
8,00,000 | 36,00,000

- 4,00,000 10,00,000 | 800,000

With the help of following method, which machine would you advise to
purchase ?

(i) Pay-back period (ii) Net present value




(B) Choose the correct option : (AnY Threﬁ) | |
. 3

(1) A project costing T 2,00,000 and pay;
v
16 years. Its pay back herio 4 is Ing annual cash flow of T 40,000 for

(@) 1Year (b) 3year
(¢) 5 Year ~ (d) None of these
(2) Working Capital is also known as
(a)  Circulating capital (b) Fluctuating capital
(c) Both (a) and (b) (d) None of these
(3) Cash Flow means -
8) SNetEra ~~ (b) Total Incomie _Total Exp.e:nses"
(c) Cash Income-Cash Expenses(d) None of these '
| (4) N is consideration 1n mventory mudel by | .
(@) Fixed Capital (b) ¢Econamic Ordenng Quantity
(c) P/V Ratio " _ (@ Noneofthese ©
S _—— means d1str1but10n of capltal for more acceptable prnposals
(a) Capital Ratlonmg w (b) Cap1ta1 Negotiations
() Capital Budgeting (s (d) None of these

(A) Explaighe types of fapital Structure. 14

OR
(1) Follawmg details relate to the DEVLOK Ltd for the year ended on i

31t March, 2019 :

m' Book Value Market frice

< 16,00,000 % 20 per share

-"I'.

Equity share capital

< 4,00,000 Z 75 per share

IO%Pref share capltal
(each of X 100)

7 80 per share

14% Debentures
(each of X 1 00)

< 20,00,000

< 40,00,000

the rate of 8 %, the tax -bracket of the company is 40% o
P.1.U.

15

which will grow at



Answer the following :

(a) Calculate the weighteq ayerage COSt Of capital under the market value
weights.

(b) The company Is Planp;, . 1o finance an expansion project costing

? 5,40,000 through an iisﬂe of equity shares at T 18 per shaze,

Calculate mgrginal COst o5 capital of the company. |

(2) Following details related tg the ABCLtd.:
Equity share capital (eachofy 1y ¥ 2,00,000

10 % debentures (each of } 100) < 2,00,000
Sales | 2 6,00,000%
Variable operating €Xpenseg T 4,50,000
Fixed operating €Xpenses I & 50,000 |
Taxation rate E > 40% '

On the basis of these detaj]s, ‘__Icalc'ﬁlaté .the degréé of_} operating Leverage
(DOL), the degree Of financjalleverage (DFL) and the degree of combined

Leverage (DCL)

(B) Choose the correct angwer : (Any.Three)_
(1) Theylevel at which-total gperating expenses are equal to the amount of total
interest i§ called |
- (a) Financial Leverage (b) Breakeven point

" (c).\ Operating leverage (d) None of these

. [ _42) " Preference shareholders getpreférence at the time of
'(a) Purchase of share (b) Payment of Dividend

(c) Public Offer (d) None of these
(3) Net Income approach is presented by
(a) David Durard (b) Elli Swartz
1 (c) Modigliani _ (d) None of these
(4) Walter model suggest fof 100% DP Ratio when
(@) Ke=r | (b) Ke<r
. () Ke>r ' (d) Nore of these
(5) Indifference leve] of EBIT . one at which
(@) EPSis Zero (b) EPSis Highest
(c) EPS is Minimum " (d) Noneof these
~———
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